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Grebe huppé 12 12 2 2 3 1 20 1 4 10 15 0 35
Grébe castagneux 11 11 11 1 2 2 5 4 4 20
Cigogne blanche 1 1 3 5 0 0 5
Bihoreau gris 0 0 0 0 0
Héron garde-boeufs 0 0 0 0 0
Grande Aigrette 1 15 32 | 10 58 3 65 2 1 2 2 7 1 1 2 74
Aigrette garzette 0 9 9 0 0 9
Oie cendrée 17 17 19 3 3 0 22
Oie rieuse 4 4 4 0 0 4
Bernache nonnette 0 0 8 8 0 8
Bernache du Canada 1 319 320 17 343| 182 116 1 299 0 642
Cygne de Bewick 0 0 1 1 0 1
Cygne tuberculé 25 25 17 1 44 1 1 0 45
Tadorne de Belon 2 2 2 0 0 2
Canard siffleur 2 87 89 164 1 14 15 0 179
Canard chipeau 72 72 72| 25 9 6 1 41 0 113
Sarcelle d'hiver 38 603 1 642 4 14 7 675 17 2 92 1 112 14 5 19 806
Canard colvert 981 | 206 1012| 170 2369| 32| 274| 455| 193 3399| 1404| 110| 229| 47| 386| 70| 2246] 92| 32 102| 226 5871
Canard souchet 1 4 5 5 2 2 0 7
Canard pilet 15 15 15 0 0 15
0 0 0 0 0

Fuligule milouin 56 56 56 3 5 8 0 64
Fuligule morillon 7 7 7 2 2 0 9
Fuligule nyroca 0 0 2 2 0 2
Nette rousse 0 0 0 0 0
Garrot a ceil d'or 1 1 1 0 0 1
Harle bievre 1 1 1 0 0 1
Foulgue macroule 124 | 9 37 | 13 183 5 17 65| 31 307f 150| 53 1| 62 5 271 12 32| 44 622
Grue cendrée 527 527 8 538 0 0 538
Courlis cendré 36 36 36 0 0 36
Chevalier guignette 0 7 7 1 1 0 8
Chevalier cul-blanc 4 4 1 6 1 1 2 0 8
Chevalier aboyeur 4 4 4 0 0 4
Bécassine des marais 27 27 27 1 3 4 0 31
Goéland leucophée 0 3 1 1 1 2 3 7
TOTAUX 1147] 231 2915| 195 4488| 60 | 321 | 546 [ 240 5845| 1796| 196 | 350 | 227 [ 404 | 73 | 3046| 107 | 46 | 145 | 298 9189




